A##HRR

KEZELHERIRE
1 % EIE RSB RERBHELE
M 4 B8 FRE24512A198  (KK)  |BAALESRS 10:02
B fl 5 Fr =HHTRI5 3023 RE
xEtEE (M) FE M) B 1K il BR{# 4% (F1)
5,700,000 5,700,000 4,721,000
E3 & % A HOE % =
1 | EHERTI %A 5,400,000 (¥4
2 | ARSI EVYIIE =FEXM 5,470,000
3 |ARs4ABELAR 5,500,000
4 |ERSHEXRR 5,600,000
5 |BRXEHAFTA 5,550,000
6 |AREMTHKELRAA 5,580,000
7 |BERE4RIFER 5,600,000
8
9
10
11
12
13
14
15




A##HRR

KEZELHERIRE
1 % RIE#R2SRABEBELISE
I = FR24E12A198 (K)  |BAALESRS 10:20
B fl 5 Fr =FHTRI5 3022 R=E
xEtEE (M) FE M) B 1K il BR{# 4% (K1)
2,200,000 2,200,000 1,835,000
E3 & % A HOE M i z
1 | RS RHRE 2,180,000
2 |BREHIEVYIIE =FEXM 2,130,000 (¥4l
3 |AR=#HERLIK i)
4 (94 XT)—kA =4t 2,150,000
5 AR ASRIETERR 2,170,000
6
7
8
9
10
11
12
13
14
15
&
Z




A##HRR

KERBIHBERIRE
1 % LEKBERLIE
M 4 B8 FrRR24512R198  (OK)  |BAALESRE 10:42
B fl 5 Fr =FHTRI5 30228 E
xEtEE (M) FE M) B 15 1| BR {f 4% (F3)
3,800,000 3,800,000 3,170,000
E3 & % A o8| m & %
1 | BEREHIRERRE 3,730,000
2 |BRXRHXEIHE 3,680,000
3 [D4XTY—rtkR &1t i)
4 | ARSHFRERTIRX =ZFEXMR 3,670,000
5 |BRARHKRMER 3,650,000 [Z#L
6
7
8
9
10
11
12
13
14
15
&




A##HRR

KEZELHERIRE
% % FEHARI2Z2SEKEARELS
B # B TRE24512A198 (OK)  |BALERR 11:01
B AL 15 PR =FHTRI5 3022 R=E
xEtEE (M) FEME(FE) B 1K il BR{# 4% (K1)
3,000,000 3,000,000 2,625,000
E 3 =] % A A B M) ] %
1 | RS RHRRE 2,941,000
2 |ARSITIRR R 2,966,000
3 |AREHENRR 2,959,000
4 |BRHHA KR 2,930,000 (4L
5 |ARSHAERIEIEMR 2,945,000
6
7
8
9
10
11
12
13
14
15
li%




A##HRR

KERBIHBERIRE
1 % (A3)TINFIVES R LTE (24-1)
B 4 B FR24512A198 (K)  |BAALESRS 11:20
B fl 5 Fr =HHTRI5 3023 RE
xEtEE (M) FE M) B 1K il BR{# 4% (F1)
6,300,000 6,300,000 5,231,000
E3 & % A o8| m & %
1 (EFRRITERXRH 5,990,000 | 4L
2 |BRXSHXBIHE 6,160,000
3 |AREHEXRR 6,190,000
4 | ARSHTHKEIEMR 6,200,000
5 |KEEEBRMARH HEEEM 6,150,000
6 |BRSLTILTHEREBELE 6,210,000
7 |ROAMERISERRME =FXE 6,000,000
8
9
10
11
12
13
14
15
&




A##HRR

KERBIHBERIRE
1 % BARFEOX LN ZEHHELSE
M 4 B8 FRR24512R198  (OK)  |BAALESRE 11:42
B fl 5 Fr =FHTRI5 3022 R=E
sxEtEE (M) FE M) B 1K il BR{# 4% (K1)
6,760,000 6,760,000 5,605,000
E3 & % A o8| m & %
1 | EHERTE%ASH 6,530,000
2 |BREHIIRER R 6,600,000
3 |BAEHAFTA 6,555,000
4 |ARSMPMBELTEBIE 6,580,000
5 |KEEEBRMARM HEEEM 6,500,000 (¥ 4L
6 |BRESLTILTHEREBELE 6,650,000
7 |BERHBESHRMBIEARN 6,630,000
8
9
10
11
12
13
14
15
&




A##HRR

KEZELHERIRE
1 % IMNERBERERRETE
B # B TRE24512A198 (OK)  |BALERR 13:10
B fl 5 Fr =FHTRI5 3022 R=E
sxEtEE (M) FE M) B 1K il BR{# 4% (K1)
2,530,000 2,530,000 2,100,000
E3 & % A HOE M i z
1 |ARSHIEVYIIE ZFEEM 2,490,000
2 |ARESMHFBRERIRX =FEXM 2,490,000
3 | XMER 2,456,000
4 |ARSMPMBELTEBIE 2,420,000
5 |BRXEH=ER 2,400,000 %4l
6
7
8
9
10
11
12
13
14
15
&




A##HRR

XEHEIFHERIRE

1 % BARNMEBRBABEXBER
M 4 B8 FRE24512A198  (KK)  |BAALESRS 13:30
B fl 5 Fr =FHTRI5 3022 R=E
xEtEE (M) FE M) B 1K il BR{# 4% (K1)
2,350,000 2,350,000 i
E3 & % A HOE M w &
1 |ERJ)—Y—ERBREHt 2,260,000
2 |94 XT)—kA =4t 2,248,000 | 4L
3 | XKMER 2,276,000
4 |AREHFSEEER 2,290,000
5 [BRXeu@EIIERE 2,300,000
6
7
8
9
10
11
12
13
14
15
&




A #HER
XS H BB

# £ BARRUILKHFBARKAELBER
H # B TRE24512A198 (OK)  |BAALERR 13:42
B fl 5 Fr =FHTRI5 3023 RE
sxEtER (M) FE M) B 1K il BR{# 4% (F4)
800,000 800,000 "
E 3 & % A HOE M i z
1 ggg% BARBaVYILEAUE B 725.000 | #,
2 |BX=tt VOFRKRE BHEEFRAR 755,000
3 R YoRa LLBEEXE 760,000
4 A=t BERLYTRX BJEEERM 742,000
5 ;;K;ﬁﬁﬂﬁ rXs LERE 766,000
6
7
8
9
10
11
12
13
14
15
&
Z




A #HER
XS H BB

% 2 TR245FE SKBEA
CE = FR24E12A198 (K)  |BAALESRS 13:56
B fl 5 Fr =FHT{RI5 3022 RE
xEtEE (M) FE M) B {E il BR{# 4% (F1)
2,650,000 2,650,000 i
E3 & % A ®OE M fi z
1 |kt RMESREER BAERXE 5,356,000 |k &
2 |TREILEM #AEtt BRRXE 2,416,400 (¥4l
3 | KRBT HXs#t BEREXM 2,650,000
4
5
6
7
8
9
10
11
12
13
14
15
&
z




